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«  Graph of y = f(z)

For # 1 — 10, use the graph to evaluate each of the following integrals:

7. Jlﬂf(x)ldx
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the function given by s(x){ f(2) dt / 9'()() :,][)(X)
(@) Find (). - B

(b) Find all values of x ontheopenmwrval(—z.s)atwhch 8 ‘has a relative maximum. Justify
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(d) Find the xmd&axz ofeachpon‘tof }ofdp o}gpg)dnoglenmuwlg( 2, 5). >
Justify your answer. ‘
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Name: Date:
Calculus AB: Applications of the FTC Part 2 Ms. Loughran
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. The graph of the function f. consisting of three line segments, is given above. Let g(x) - ‘ _fA‘,f)(7Y:’.>

q9)= 1)

(a) Compute g(4) and g(-2).

(b) Find the instantaneous rate 9fc1nng¢ of g, withrespectto x, at x = L.

V) =401\ =
(c¢) Find the absolute minimua valué of g on tl)e closed interval [-2. 4] Justify your answer.

(d) The second derivative of g is not defined at x = 1 and x = 2. How many of these values are x-coordinates
of points of inflection of the graph of g ? Justify your answer.
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Graph of f

The graph of the function f above consists of three line segments.
ia) Let g be the function given by g(x) = J Sflt)dr. For eachof g(-1). g(-1). and g”(=1). find the value
or state that it does not exist. {X) ’p
(b) For the function g defined in part (a). find the x- wnrdm e of es uh mmI of mnuu on of the gre x;\h of g on - 1 (x
the open interval —4 < x < 3. Explain your ng 9 4 or MX'—‘ HL ;
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{c) Let /1 be the function given by h(x) = f f(t)de.)Find all values of x in the closed interval =4 € x £ 3 for

which i(x) =0 l- | " x=3 / X: J/ X: _I

(d) For the function A defined in p'u( (¢). find all intervals on which A is decreasing. Explain your reasoning
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Homework 03-06

Name: Date:
AP Calculus AB: FTC PII Homework Ms. Loughran

For questions 1-3, find the derivative using the FTC Part II and check your answer by evaluating the
integral and then differentiating.
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